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P.T.O.

1. B) worm
2. A) un
3. C) Collective noun
4. D) suffering  
5. A) Verb
6. B) thirsty
7. D) When
8. B) thieves, houses
9. C) has, have
10. B) He sent a letter to the king.
11. D) inside 
12. A) queen
13. D) soar
14. A) married
15. C) joy
16. D) His eyes were struck to the T.V. 
17. Bala 
18. He was friendly with people belonging to different religions/
 He was singing hymns without any difference of religion/ 
 He wrote songs in praise of God/People belonging to   

different religions were his followers. (Any one point) 
19. Parts of a plant
20. Roots – absorb water and nutrients from the soil, 
      Leaves – prepare food and help to grow.
21. a) On business. b) A red rose.
22. Child’s prayer – God’s grace
 Protect – mother – health – strength
 Preserve – father – pay – respect –
 Be the hope and joy of his/her parents
23. a) Tippu Express  b) 56235 c) Mysuru and Bengaluru d) 8 
24.	 He	is	a	pilot.	He	flies	an	aeroplane.	He	is	in	the	airport/

aerodrome	where	flights	are	landed	and	taken	off.

(1×16=16)

(1×4=4)

 (½+½+½+½=2)

(1+1=2)

(1+1=2)

(1+1=2)
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25. a) 3  b) i phone  c) Rs. 24/-  d) Rs. 2,890/- 
26. a) The Boston Daily Globe  b) a ship  c) 1500  
 d) Mostly women and children
27. Content
 Language accuracy
 Mechanics of writing
28.  a) Playing   b) 14 children  c) Baking 
29. Sequencing  
 Use of linkers and appropriate vocabulary
 Mechanics of writing
30. a) Jotiba  b) 1848 c) 5 more schools d) For their educational work
31. From Address 

_________
_________
_________
Date :
To address                                              1 m
______
________ 
Salutation                                               1 m
Subject                                                    
Body of the letter                                     
Matter _________
_________
_________                                            

     2 m

Ending                                                    1 m
Signature

  (1+1+1=3)
  (1+1+1=3)

(1+1+1=3)

 (½+½+½+½=2)

(1+1+1+1=4)

5 

 (½+½+½+½=2)


